
DESCRIPTIONQ'TY SHIMANO
CODE NO.

ITEM
NO.

Upper Cover for 7-Speed & Fixing Screws (M3 x 5)
Upper Cover for 8-Speed & Fixing Screws (M3 x 5)
Upper Cover for Left Hand & Fixing Screws (M3 x 5)
Upper Cover Fixing Screw (M3 x 5)
Indicator for 7-Speed & Fixing Screw
Indicator for 8-Speed & Fixing Screw
Indicator for Left Hand & Fixing Screw
Indicator Cable Guide for Right Hand & Fixing Screw
Indicator Cable Guide for Left Hand & Fixing Screw
Brake Cable Adjusting Bolt & Nut
Shifting Cable Adjusting Bolt Unit for Left Hand
Main Lever Cover for Right Hand & Fixing Screw (M3 x 7)
Main Lever Cover for Left Hand & Fixing Screw (M3 x 7)
Main Lever Cover Fixing Screw (M3 x 7)
Reach Adjusting Screw (M4 x 14.5) & Spring
Clamp Bolt (M6 x 16)

1

2

3

4

5
6

7

8
9

10

Y-6FM
Y-6FM
Y-6FM
Y-6A7
Y-6FM
Y-6FM
Y-6FM
Y-6FM
Y-6FM
Y-8XX
Y-6A8
Y-6FM
Y-6FM
Y-6A7
Y-8ST
Y-6A7

98010
98020
98030
26000
98070
98080
98090
98100
98110
98010
98010
98120
98130
27000
98010
80000

 IL/ST Printed in Japan 0107-2088

For 8-Speed
11

2
2

1

2
2

2
2

3

3

3

44

5

5

6

7
8

7
8

9

10

9

10

For Right HandFor Left Hand

For 7-Speed

For 8-Speed

ST-EF29-7

ST-EF29-8

SHIMANO EZ-Fire Plus Lever (For V-Brake)


